WS A.3 – Significant Figures and Scientific Notation
For the following measurements, indicate how many significant figures are in each number:

_____1. 34 g

_____2. 3400 g

_____3. 0.00034 g

_____4. 34.0 g

_____5. 800 g

_____6. 800. g

_____7. 0.000190 m

_____8. 23.450 L

_____9. 101 km

_____10. 10600 mg

_____11. 5040 m

_____12. 3.4 x 103 g

_____13. 2.0040 x 10-3 L

_____14. 5.60 x 1023 m

_____15. 230600 mg

Convert the following numbers to scientific notation or standard notation. Make sure to keep the same number of significant figures in your answer.
16. 5700 g _______________________

17. 14,000,000 m __________________

18. 23,000,000,000 L _________________

19. 45,250,000 L ___________________

20. 280,000 m _____________________

21. 0.000000045 m __________________

22. 0.00344 K _____________________

23. 0.00074 g _____________________

24. 3.6 x 10-5 L ____________________

25. 4.52 x 103 m ___________________

26. 3.36 X 107 g __________________

27. 6.00 x 102 g __________________

28. 6.00 x 101 L __________________

29. 3.25 x 10-3 m __________________

30. 8.32 x 10-5 kg __________________

Round Each number to the specified number of significant figures.

31. Round 78.241 g to…            4 sf: __________   3 sf: ___________ 2sf: ___________ 1 sf: ____________

32. Round 4.2983 m to …          4 sf: __________   3 sf: ___________ 2 sf: ___________ 1 sf: ____________

33. Round 373.99 g to …           4 sf: __________   3 sf: ___________ 2 sf: ___________ 1 sf: ____________
34. Round 50,001 m to …          4 sf: __________   3 sf: ___________ 2 sf: ___________ 1 sf: ____________

35. Round 27.89 L to …
    4 sf: __________   3 sf: ___________ 2 sf: ___________ 1 sf: ____________

Perform the following calculations and give your answer with the correct number of sig figs and units.

36. 67 cm x 55 cm = ______________

37. 4.29 m + 9.8 m = ______________

38. 13.531 s + 4.1 s = ______________

39. 5.471 g/mL x 24.0 mL = ___________

40. 320 m / 160 s = _____________

41. 5.6 m2 / 6.23 m = ___________

42. 8.90 lb / 1730 days = ____________

43. 784.326 m – 2m = _____________

44. 3.56 / (2.6 cm x 4.3 cm x 7.8 cm) = __________

45. 250 mm – 170 mm = ______________ 

